Survey of Students' Opinions of Teaching by Part Time Class Teachers

Michaelmas Term 2005

EC315 GOMES, MR PEDRO

Question: Which of the reasons given below describe why you are taking this course? Please select all that apply

	Count	% Sample Answered
It is compulsory for my degree programme	4	20.0%
I am interested in the subject matter	19	95.0%
It was recommended to me by other students	6	30.0%
It was recommended to me by a tutor	0	0.0%
Other (specify)	0	0.0%

Question: How much of the essential or strongly recommended reading have you been able to do so far?

Count	% Sample Answered	% Sample Asked	% Sample Total	St	atistics
8	40.0%	40.0%	40.0%	Minimum Value	1.00
8	40.0%	40.0%	40.0%	Maximum Value	4.00
2	10.0%	10.0%	10.0%	Average	1.90
2	10.0%	10.0%	10.0%	Sum	38
				Standard Deviation	0.97
0	0.0%	0.0%	0.0%	Median	2
				Mode	Multi-Modal
0	N/A	0.0%	0.0%		
0	N/A	N/A	0.0%		
20	100%	100%	100%		
	8 8 2 2 2 0	Answered 8 40.0% 8 40.0% 2 10.0% 2 10.0% 0 0.0% 0 N/A 0 N/A	Count Answered Asked 8 40.0% 40.0% 8 40.0% 40.0% 2 10.0% 10.0% 2 10.0% 10.0% 0 0.0% 0.0% 0 N/A 0.0% 0 N/A N/A	Count Answered Asked Total 8 40.0% 40.0% 40.0% 8 40.0% 40.0% 40.0% 2 10.0% 10.0% 10.0% 2 10.0% 10.0% 10.0% 0 0.0% 0.0% 0.0% 0 N/A 0.0% 0.0% 0 N/A N/A 0.0%	Standard Deviation Mode

Question: Please rate your teacher on the following:

Topic: Skill at leading discussions

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	7	35.0%	35.0%	35.0%	Minimum Value	1.00
Very good	8	40.0%	40.0%	40.0%	Maximum Value	5.00
Fairly good	2	10.0%	10.0%	10.0%	Average	2.10
Poor	2	10.0%	10.0%	10.0%	Sum	42
Very poor	1	5.0%	5.0%	5.0%	Standard Deviation	1.17
Don't know/not	0	N/A	0.0%	0.0%	Median	2
relevant					Mode	2
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Survey of Students' Opinions of Teaching by Part Time Class Teachers

Michaelmas Term 2005

Question: Please rate your teacher on the following: **Topic:** Skill at involving members of the class

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	7	35.0%	35.0%	35.0%	Minimum Value	1.00
Very good	9	45.0%	45.0%	45.0%	Maximum Value	4.00
Fairly good	3	15.0%	15.0%	15.0%	Average	1.90
Poor	1	5.0%	5.0%	5.0%	Sum	38
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	0.85
Don't know/not	0	N/A	0.0%	0.0%	Median	2
relevant					Mode	2
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Question: Please rate your teacher on the following: **Topic:** Clarity in presenting course material

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	9	45.0%	45.0%	45.0%	Minimum Value	1.00
Very good	7	35.0%	35.0%	35.0%	Maximum Value	5.00
Fairly good	0	0.0%	0.0%	0.0%	Average	2.00
Poor	3	15.0%	15.0%	15.0%	Sum	40
Very poor	1	5.0%	5.0%	5.0%	Standard Deviation	1.26
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	2
Televani					Mode	1
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Question: Please rate your teacher on the following:

Topic: Success at improving your understanding of the course material

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	9	45.0%	45.0%	45.0%	Minimum Value	1.00
Very good	6	30.0%	30.0%	30.0%	Maximum Value	5.00
Fairly good	3	15.0%	15.0%	15.0%	Average	1.95
Poor	1	5.0%	5.0%	5.0%	Sum	39
Very poor	1	5.0%	5.0%	5.0%	Standard Deviation	1.15
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	2
					Mode	1
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Survey of Students' Opinions of Teaching by Part Time Class Teachers

Michaelmas Term 2005

Question: Please rate your teacher on the following:

Topic: Success at getting you interested in the course

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	9	45.0%	45.0%	45.0%	Minimum Value	1.00
Very good	6	30.0%	30.0%	30.0%	Maximum Value	5.00
Fairly good	2	10.0%	10.0%	10.0%	Average	2.00
Poor	2	10.0%	10.0%	10.0%	Sum	40
Very poor	1	5.0%	5.0%	5.0%	Standard Deviation	1.21
Don't know/not	0	N/A	0.0%	0.0%	Median	2
relevant					Mode	1
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Question: Please rate your teacher on the following:

Topic: Ability to communicate a structure to the topic of each class meeting

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	9	45.0%	45.0%	45.0%	Minimum Value	1.00
Very good	8	40.0%	40.0%	40.0%	Maximum Value	4.00
Fairly good	1	5.0%	5.0%	5.0%	Average	1.80
Poor	2	10.0%	10.0%	10.0%	Sum	36
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	0.95
Don't know/not	0	N/A	0.0%	0.0%	Median	2
relevant					Mode	1
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Question: Please rate your teacher on the following: **Topic:** Helpfulness of comments on your written work

Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
7	35.0%	35.0%	35.0%	Minimum Value	1.00
5	25.0%	25.0%	25.0%	Maximum Value	5.00
3	15.0%	15.0%	15.0%	Average	2.35
4	20.0%	20.0%	20.0%	Sum	47
1	5.0%	5.0%	5.0%	Standard Deviation	1.31
0	N/A	0.0%	0.0%	Median	2
				Mode	1
0	N/A	0.0%	0.0%		<u> </u>
0	N/A	N/A	0.0%		
20	100%	100%	100%		
	7 5 3 4 1 0 0	7 35.0% 5 25.0% 3 15.0% 4 20.0% 1 5.0% 0 N/A 0 N/A	Count Answered Asked 7 35.0% 35.0% 5 25.0% 25.0% 3 15.0% 15.0% 4 20.0% 20.0% 1 5.0% 5.0% 0 N/A 0.0% 0 N/A 0.0% 0 N/A N/A	Count Answered Asked Total 7 35.0% 35.0% 35.0% 5 25.0% 25.0% 25.0% 3 15.0% 15.0% 15.0% 4 20.0% 20.0% 20.0% 1 5.0% 5.0% 5.0% 0 N/A 0.0% 0.0% 0 N/A 0.0% 0.0% 0 N/A N/A 0.0%	Count Answered Asked Total Statistics 7 35.0% 35.0% Minimum Value 5 25.0% 25.0% Maximum Value 3 15.0% 15.0% Average 4 20.0% 20.0% Sum 1 5.0% 5.0% Standard Deviation 0 N/A 0.0% Median 0 N/A 0.0% 0.0% 0 N/A N/A 0.0%

Survey of Students' Opinions of Teaching by Part Time Class Teachers

Michaelmas Term 2005

Question: Please rate your teacher on the following:

Topic: Spoken English

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	6	30.0%	30.0%	30.0%	Minimum Value	1.00
Very good	10	50.0%	50.0%	50.0%	Maximum Value	4.00
Fairly good	1	5.0%	5.0%	5.0%	Average	2.05
Poor	3	15.0%	15.0%	15.0%	Sum	41
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	1.00
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	2
Not Answered	0	N/A	0.0%	0.0%	Mode	2
Not Answered		IN/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Question: Please rate your teacher on the following:

Topic: Audibility

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	9	45.0%	45.0%	45.0%	Minimum Value	1.00
Very good	6	30.0%	30.0%	30.0%	Maximum Value	4.00
Fairly good	3	15.0%	15.0%	15.0%	Average	1.90
Poor	2	10.0%	10.0%	10.0%	Sum	38
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	1.02
Don't know/not relevant	0	N/A	0.0%	0.0%	Median	2
					Mode	1
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Question: Please rate your teacher on the following:

Topic: Extent to which teacher was prepared for each class

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	11	55.0%	55.0%	55.0%	Minimum Value	1.00
Very good	6	30.0%	30.0%	30.0%	Maximum Value	4.00
Fairly good	2	10.0%	10.0%	10.0%	Average	1.65
Poor	1	5.0%	5.0%	5.0%	Sum	33
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	0.88
Don't know/not	0	N/A	0.0%	0.0%	Median	1
relevant					Mode	1
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Survey of Students' Opinions of Teaching by Part Time Class Teachers

Michaelmas Term 2005

Question: Please rate your teacher on the following: **Topic:** Willingness to accept questions during class

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Excellent	12	60.0%	60.0%	60.0%	Minimum Value	1.00
Very good	7	35.0%	35.0%	35.0%	Maximum Value	4.00
Fairly good	0	0.0%	0.0%	0.0%	Average	1.50
Poor	1	5.0%	5.0%	5.0%	Sum	30
Very poor	0	0.0%	0.0%	0.0%	Standard Deviation	0.76
Don't know/not	0	N/A	0.0%	0.0%	Median	1
relevant					Mode	1
Not Answered	0	N/A	0.0%	0.0%		<u>.</u>
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Question: How quickly was any written work submitted for marking usually returned to you by your class teacher?

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statisti	cs
By the next week's class meeting	16	84.2%	80.0%	80.0%	Minimum Value	1.00
					Maximum Value	2.00
Within 2 weeks of being submitted	3	15.8%	15.0%	15.0%	Average	1.16
More than 2 weeks after being submitted	0	0.0%	0.0%	0.0%	Sum	22
arter being submitted					Standard Deviation	0.37
Not applicable, no written work	1	N/A	5.0%	5.0%	Median	1
submitted for marking					Mode	1
Not Answered	0	N/A	0.0%	0.0%		
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Question: Were you able to visit your class teacher for consultations during office hours?

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Yes	12	60.0%	60.0%	60.0%	Minimum Value	1.00
No	0	0.0%	0.0%	0.0%	Maximum Value	3.00
I have not sought out my class teacher	8	40.0%	40.0%	40.0%	Average	1.80
Not Answered	0	N/A	0.0%	0.0%	Sum	36
Not Asked	0	N/A	N/A	0.0%	Standard Deviation	1.01
					Median	1
Total		100%	100%	100%	Mode	1

Question: Why were you not able to visit your class teacher? Please select all that apply

No answered records.

Survey of Students' Opinions of Teaching by Part Time Class Teachers

Michaelmas Term 2005

Question: In presenting course material in class, has your class teacher...

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
Accurately assessed your level of prior	16	84.2%	80.0%	80.0%	Minimum Value	1.00
knowledge					Maximum Value	2.00
Assumed you knew		45.00/	45.00/	45.00/	Average	1.16
more than you actually did	3	15.8%	15.0%	15.0%	Sum	22
Assumed you knew					Standard Deviation	0.37
less than you actually did	0	0.0%	0.0%	0.0%	Median	1
Not Answered	1	N/A	5.0%	5.0%	Mode	1
Not Asked	0	N/A	N/A	0.0%		
Total	20	100%	100%	100%		

Question: Overall, how much intellectual benefit have you derived from the classes so far in this course?

Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	
10	50.0%	50.0%	50.0%	Minimum Value	1.00
7	35.0%	35.0%	35.0%	Maximum Value	4.00
2	10.0%	10.0%	10.0%	Average	1.70
1	5.0%	5.0%	5.0%	Sum	34
0	N/A	0.0%	0.0%	Standard Deviation	0.86
0	N/A	N/A	0.0%	Median	2
20	100%	100%	100%	Mode	1
	10 7 2 1 0	Count Answered 10 50.0% 7 35.0% 2 10.0% 1 5.0% 0 N/A 0 N/A	Count Answered Asked 10 50.0% 50.0% 7 35.0% 35.0% 2 10.0% 10.0% 1 5.0% 5.0% 0 N/A 0.0% 0 N/A N/A	Count Answered Asked Total 10 50.0% 50.0% 50.0% 7 35.0% 35.0% 35.0% 2 10.0% 10.0% 10.0% 1 5.0% 5.0% 5.0% 0 N/A 0.0% 0.0% 0 N/A N/A 0.0%	Count Answered Asked Total Statistics 10 50.0% 50.0% 50.0% Minimum Value 7 35.0% 35.0% 35.0% Maximum Value 2 10.0% 10.0% Average 1 5.0% 5.0% Sum 0 N/A 0.0% 0.0% Standard Deviation 0 N/A N/A 0.0% Median

Question: In general, how satisfied have you been so far with the class teaching on this course?

	Count	% Sample Answered	% Sample Asked	% Sample Total	Statistics	3
Very satisfied	14	70.0%	70.0%	70.0%	Minimum Value	1.00
Fairly satisfied	4	20.0%	20.0%	20.0%	Maximum Value	3.00
Not very satisfied	2	10.0%	10.0%	10.0%	Average	1.40
Not at all satisfied	0	0.0%	0.0%	0.0%	Sum	28
Not Answered	0	N/A	0.0%	0.0%	Standard Deviation	0.68
Not Asked	0	N/A	N/A	0.0%	Median	1
Total	20	100%	100%	100%	Mode	1